B — K1 (A4HHR)

SEXL 6 11H%
T8 78 T3 FH A K B Bt i 5 2 (g VR k)
BKEER 9:00
K KERBRAER (i)
B . . TV KO | HEY < .
IR SR e | o | bl P il I A %
C C ST mg/L | mg/L mg/L mg/L mg/L mg/L
1 = 20.3] 18.7 0.7, 7.10
2| W 20.0| 18.2 0.6] 7.21
3| 19.6] 18.4 0.8 7.14
4 K 20.2] 18.6 2.7 7.11
5| & 17.8| 18.6 1.2| 7.14
6| 18.7]  18.0 0.8 7.22
7| B 15.0[ 17.6 0.7 7.23| 15.4| 16.2 61 2.3 <0.03] <0.02
8| M 12.1] 16.7 0.6| 17.27
9| 15.8] 16.4 0.6| 7.34
10, = 15.8] 15.5 0.5 17.32
11 K 16.7]  15.0 0.4 7.43
12| & 19.5| 15.0 0.4 17.35
13| B 19.7] 15.5 0.9 7.44
14| = 16.6] 16.0 0.7| 17.48
15| & 16. 4| 16.1 0.6 7.46
16| = 17.5] 16.0 0.2 7.55
17] K 20.1[ 15.9 0.2| 17.46
18| K& 17.2]  16.4 0.3 17.50
19| 7.2| 15.5 0.2| 7.51
20| K& 10.0| 15.5 0.2| 17.52
21| & 13.3] 15.0 0.1| 7.35| 22.4] 22.7 77 4.0/  <0.03] <0.02
22| K& 14.1] 14.3 0.1| 17.38
23| K& 11.5| 13.9 0.1] 7.41
24| K& 10.0| 13.5 0.1| 17.37
25| HE 10.0] 13.3 0.1| 17.37
26| = 13.7] 13.0 0.1 17.36
27| & 12.5| 13.2 0.2 17.33
28| HE 11.3] 13.3 0.8 17.32
29| HE 9.5 13.1 1.0 7.25
R 10.0] 12.7 0.5| 7.24
¥ 15.1] 15.6 0.5| 7.34| 18.9] 19.4 69 3.2 <0.03]  <0.02
K 15 20.3| 18.7 2.7 7.55| 22.4] 22.7 77 4.0/  <0.03] <0.02
K 7.2 12.7 0.1 7.10/ 15.4| 16.2 61 2.3 <0.03  <0.02
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BKEER 9:00
ook KERBRESR (Fdki)
B . . TV K OB | HEY < .
)RS o | m | pu P il I I %
C C ST mg/L | mg/L mg/L mg/L mg/L mg/L
1 = 20.3| 18.8 0.8/ 7.13
2| 20.0| 18.8 0.7, 7.10
3| HE 19.6] 18.6 0.7/ 17.13
4| H§ 20.2[ 18.7 1.1] 7.11
5| & 17.8| 18.8 1.7 17.07
6] HE 18.7] 18.5 1.1] 7.10
71 R 15.0] 18.2 0.9 7.16| 14.6] 15.4 58 2.1 0.03] <0.02
8| HE 12.1] 17.3 0.5 17.23
9] H§ 15.8| 16.8 0.5 17.25
100 = 15.8] 16.4 0.4 17.31
11 W 16.7] 15.9 0.4 17.31
12| = 19.5| 15.7 0.4 17.35
13| W 19.7] 15.7 0.5 17.39
14 = 16.6] 16.1 0.5| 17.41
15| & 16.4] 16.4 0.4 7.41
16| =& 17.5| 16.4 0.3 7.47
17 W 20.1[ 16.2 0.2| 7.43
18] Wy 17.2] 16.5 0.2| 7.43
19| W 7.2 16.0 0.2| 17.45
20| I 10.0| 15.6 0.2 17.47
21| W& 13.3] 15.5 0.2| 7.42| 22.3] 23.0 69 4.3 <0.03] <0.02
22| I 14.1]  14.9 0.2 17.35
23| I 11.5| 14.4 0.2 17.39
24| [ 10.0] 13.9 0.2 17.39
25| [ 10.0| 13.7 0.2 17.39
26 = 13.7] 13.5 0.2| 17.37
27| W 12.5| 13.4 0.2 17.35
28| I 11.3] 13.5 0.7 17.34
29| I 9.5/ 13.3 1.4 7.31
30 i 10.0]  13.1 1.0 7.23
By 15.1] 16.0 0.5| 7.31| 18.4| 19.2 64 3.2 <0.03]  <0.02
R[5 20.3| 18.8 1.7 7.47] 22.3] 23.0 69 4.3 0.03]  <0.02
K 7.2 13.1 0.2 7.07 14.6] 15.4 58 2. 11 <0.03 <0.02




